Copyright © 2021 Steve Gilman Design Ltd.

For notes see drawing 01

o‘:’\' 0]
O
$\° /\Q
&
W9 W10 w11 W12 01 W13 W14
e T - = = - = e ot
] |% ________________ M _J_l_é __________________ MJt
| R ' ' Lintel Schedule Simpson BTALU240
| | | concealed beam hanger or o
L . N
A
Lyl AN
: I Referee Change W.C W.C Acc. W.C & Baby Change i ED1, W1, W2 Catnic CX90/125 continuous 150mm end bearing \ N’
| | | .
| ! pa '”d'_iates ﬁXtema',fT‘aSO?rV ED2, W3, W4 Catnic CX90/125 continuous 150mm end bearing S =R S
| cavity wall comprising o ool
| o o ' | ' 7N/mm? 140mm thk. inner leaf 4 M.J1 ED3, ED4 Catnic CG90/125 per ref. 150mm end bearing ° ;}é °
| A 3 ! blwk., to Architects spec ~ 250x150 D30 o R o 250x150 D30
: # D2 4 D3 # W5, W6, W7 Catnic CG90/125 per ref. 150mm end bearing Oak Eaves Beam o oflo” o Oak Eaves Beam
-——= et v i i o o
| ———= ———= Catnic BSD140 inner ;
: M.J1 M.J1 M.J1 # W8 Catnic CCS outer 150mm end bearing o / o
I
| : | : W9, W10, W11, W12 Catnic CG90/125 per ref. 150mm end bearing §
| . —1 1y AN T T T T T T T T T 7 - - Simpson BTALU160
# Indicates soft joint I Catnic BSD140 inner ; P 3
: forrad with r:IetaI Indicates non load-bearing (1) D1 M1 |” : W13, Wi4 Catnic CCS outer 150mm end bearing concealed beam hanger or g
| lath 300mm lone at blwk. bartiti I built off w.C | [ | | I | : : similar approved, installed to 3
| a onga WK. partition wall built 0 1 il | 01 Catnic CG90/125 150mm end bearing manufacturer's instructions q
| max. 225c¢/c vert. floor slab to Architect spec \ a; | | | I 7
| . | | | D1, D2, D3, D4 Naylor P140 per ref. 150mm end bearing g
| Kitchen & Communal Space ik | §
| # w8 | |: | I Note - Length of lintels to be determined by the contractor
: M.J1 : ) : : - refer Architects drawings for opening dimensions
' | | | & | . . . . .
| B | Typical Timber to Timber Connection Detail
: Changing Room 1 Changing Room 2 Ll @'\“4;\0 :
L Q
| 140 140 M.J 1 = Expansion joint comprising of 10mm n A |
: aerofil plus sealant in blockwork. |
I M.J 2 = Expansion joint comprising of 10mm :
| Indicates 140mm thk. aerofil plus sealant in brickwork. |
: 7N/mm? load-bearing (See elevations) |
| blwk. partition wall built :
| off foundation |
| |
: I Max. 225 ,  Max. 225 Roof panel designed & detailed
I by specialist supplier inc. fixings
| & & & |
' O O R I S T Tt TTT T TTTTTTT T T TTTTTTTTTTOT
I NS NS P | Timber plate min. M10 bolted through
| &y &y & | :
| S S N | | | purlin flange at max. 600c/c staggered |
| W1 W2 ED1 MJ1 ED2 W3 w4 ED3 MJ1 W5 Wé w7 | S A ; ; ;
)\ 1 7 ittty o7 Ity 070 Rkt 07070 @970 Mt 70 It 70 R 7070757 e e e @ e R 7077 e e Ry e e Ml Ve Rt V4 B [9 (Al
| _éI______I__I_____I_______ — T T NNV e S — g — 0 _I_____I_L : v | Ml | |
I ——————————————————————————————————————————————————————————————————————— —[__l 1 1 1
| M.J 2 291 A A ] | dp ! |
| I o 5
: I \ B lo O] g Purlin Beam 254x146UB31 ﬂ @J Purlin Beam 254x146UB37
| Elevated decking area & : : AN S < N ¢ (longer length)
Q Q Q Q i i Q
| x 05 < 05 ) ) inc. ramp & steps designed x O | | EJ —1
| 0 oc,c)gg \80‘9%00 \80‘9‘000 \80"’%00 & detailed by others \{_Qd’(,po I /g D
| ()’z> G\;\’ 0’Z> Q'\'} 0’Z> Q'\'} ()’z> Q‘\'} ()’z> Q'\'} | | n —
I N N N N N Lo ] N _
| L A.  Ancon stainless steel RT2 tie 225mm long > % Min. 6No. M16 bolted P1
L X 2 X X 2 X X _:_ J' 450c/c vert. & 750c/c horiz. staggered S connection through min.
____________________________ s e s B. Ancon stainless steel SPB tie 100mm long A A 10mm thk. end plates
LE _________________ _! Li _________________ _! 225c¢/c vert. through isolation pad v
C. Ancon stainless steel PPS tie 250mm long 140mm thk. load-bearing
750c¢/c horiz. inc. 120mm debonding blwk. partition wall built
Ground F|OOI‘ Plan sleeve one side through E.J. off foundation
E.J. Expansion joint - 10mm aerofil plus sealant
Section B-B
Typical Masonry Tie Details
B
1
| |
| g |
| |
I+ + + + + + + + + + + 281 e
R LT ——
| | ;‘)Sf Panel designe g detaileg | T T ————
| | R _ Pecialist supplier inc. fixi |
I I __ 00f panel designeq & S T - Tixings
I I \\\\\\\\\\\ VSPeCialist Sup “ . det:a”ed \\\\\ ‘\—1
: + : T Plier inc, f‘XIngs [ e
| | _ / T e : Timber wall plate
: : \\\\\\\ | - | fixed to top of 140mm
| | T T Min. 10mm thk. cap / | thk._inner leaf blwk. &
| Purlin Beam 254x146UB37 P1 | /’), - plate 6CFW to wind post U : profiled to support
| N ! ) ) & min. 1No. M10 resin roof panel fixings over
| N ——————— | Timber plate min. | “nchored into 140mm o | —
| P1 PN M10 bolted through Purlin B thk. inner leaf blwk. wall 2 |
: : purlin flange at max. urlin beam @ | HD strap fixed to
| | 600c/c staggered 254x146UB37 = | top of wall plate
| | = : & blwk. internal
| | ? face to spec noted
| Indicates fall of roof | & JI_ on roof plan
! panel designed & | o -
: detailed by specialist : = ||/ |
supplier inc. fixings . . |
: é : Typical Purlin to Roof |
| | . .
| | Panel Connection Detail
| | . . .
I Purlin Beam 254x146UB31 P Purlin Beam 254x146UB31 P Purlin Beam 254x146UB37 PL Wind Post Head Restraint Detail A Revised to suit comments 15.03.21
| e e e oo 1 oo p—o————p————————— p— | Wind post locally
: @ N = @5 : restrained to steel purlin
| & | Revision Details Date
| E B |
| |
: All steelwork posts to have min. :
| P1 = Min. 300x140x150mm deep 100mm concrete encasement |
| below ground level up to SSL |
| C25 concrete padstone | St G ° l
: Wind posts at eaves fixed to timber : . Roof panel designed & detailed eve I man
| wall plate to provide head restraint | 550x150 D30 % \\\\\\\\\\ by specialist supplier inc. fixings
| | [ - .‘§ \\\\\\\\
| | R e LT 1 R
| | | HD - ——— T Lych Gate Barn, Church Lane
| + + + + + + + + + + + + + + | : strap T~ Carlton Le Moorland, Lincoln, LN5 9HS
: : | \‘\“=—‘Z::; "~ Tel : 01522 788000
N — — o__ o 8] 1 : HD straps may be e,'b((\q?;\ I T Email : mail@stevegilmandesign.co.uk
' @ v o o o | o fixed to inner leaf RN [
Rk < < < N 2 within cavity - S o tap | Proposed Sports Pavilion
I < < % % g | || . PN FS strap | P P
| 3 3 3 3 3 | ) A TBC by Architect > & \y‘o |
T R . .
|8 2 2 2 g % 2 e | e | E@St Markham Playing Field
n
| o o o o o | — x
e ) ) ) 2| 5 R Back Lane
| S S S S S | a ]
e 4 4 4 Al * & Markham
| | o 2 External masonry cavity
L _: = wall comprising of
_______________________________________________________________________________________________________________________ 140mm thk. inner leaf ; H H
250x150 D30 Oak Eaves Beam 250x150 D30 Oak Eaves Beam 250x150 D30 Oak Eaves Beam 250x150 D30 Oak Eaves Beam External terrace / FFL +41.55 blwk., to Architects spec EGL varies Client East Markham Parish Council
I S | | I ] <
- <
4 Indicates holding down straps to anchor wall-plates to walls. Eaves beams to be one piece or 2No. 250x75 D30 J |‘—J ToC +41.05 H B
f I Straps to be 30x2.5 galvanised mild steel 100x1050mm long glued & coach screwed with min. M10 stainless steel Z ToC +40.95
ROO P an spaced at max. 1.5m c/c. 100mm leg to be taken across screws from inside face at 600mm c/c staggered R ToC +40.65 AV4 Title G rou nd & Roof Pla ns & Deta | |S
wall-plate and securely fixed with square twisted sheradised PR L z . L
nails, 30mm long in all available holes. 1050mm leg to be Indicates extent of 30x5 / 1500x150 long LT = Sect|on A_A Z
taken down inner leaf and securely fixed using min. five M.S. galvanised lateral restraint straps at S Lo e BoC +40.65
No.10 roundhead BZP screws, 50mm long in fischer plugs. 1500mm c/c, fixed fully to SIPS panels AN AN ) o MP Checked AF
BoC +40.35 BoC +40.35 rawn ecke
Date February 2021 Scale 1:50/ 1:10
Number | 7198/02 A Status Tender




	Sheets and Views
	02 Ground roof


